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QUESTION 1

The user creates a mapping by using aggregator transformation. The aggregator transformation receives sorted input
from sorted transformation. What is the dafault partition type for aggregator transformation?

A. Pass-through

B. Hash auto-keys

C. Not a valid partition points

D. Based on the transformation scope

Correct Answer: B

QUESTION 2

An Update Strategy transformation has the Forward Rejected Rows attribute unchecked. Which statement is correct
and true?

A. Records that are tagged for rejection are projected downstream to the next transformation so long as the ports are
connected properly

B. Records that are tagged for rejection are dropped and not projected downstream to the next transformation
C. The Forward Rejected Rows attribute cannot be cleared after the transformation is created

D. The Forward Rejected Rows attribute is only applicable when records are tagged for rejection upstream of the
Update Strategy transformation

Correct Answer: B

QUESTION 3

Based upon the graphic below, which answer correctly discribes the outcome of this workflow\\'s execution given the
start method: (The workflow is valid)

- Workflows > Start Workflow A. All objects displayed will be executed

_

i= :
Stant E segsion

B. The Start task only will be executed
C. The Start task and the link will execute, while the session task will wait to execute

D. The Start task and link only will be execute
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Correct Answer: D

QUESTION 4

Regarding the Sorter transformation and assuming that Powercenter is not utilizing Pushdown Optimization, select the
statement which is correct and true:

A. When the distinct check box is selected, every port in the sorter transformation will have the sort key selection
enabled

B. When transformation scope is set to a value of transaction, the sorter will sort on every record in the pipeline before it
releases any data. The intermediate sort file will have markers for each transaction.

C. If the distinct check box is not checked, the sorter will produce one record per unique key
D. The Sorter transformation will utilize database indexes from the source database to perform the sort

Correct Answer: A

QUESTION 5

Given the picture shown below:
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Identify all of the true and correct statements listed below. Note: The red (or gray) arrow points at the line in question.
The line on the left hand side of the picture which connects PRODUCT TO PRODUCT_COST : Choose 2 answers
A. Describes a LEFT OUTER JOIN between PRODUCT AND PRODUCT_COST

B. Describes an INNER JOIN between PRODUCT AND PRODUCT_COST

C. Describes a secondary data flow needed for a sub-select process between PRODUCT AND PRODUCT_COST
D. Can be created within Informatica PowerCenter

Correct Answer: BD

QUESTION 6
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The constant DD_INSERT may be used in an expression within which transformation or transformations? (choose one)
A. Expression and Update Strategy

B. Update Strategy

C. Update Strategy and Lookup

D. Expression, Aggregator, and Update Strategy

Correct Answer: B

QUESTION 7

Transformation: Referring to Active and Passive characteristics - Select the statement which is correct and true.
A. If a transformation\\'s Active property is cleared or not enabled, the transformation becomes passive

B. A transformation is active if it does not change the number of rows in the pipeline

C. Transformations can be active and passive at the same time

D. A passive transformation will not change the number of rows in the pipeline

Correct Answer: D

QUESTION 8

Which one of the following transformations may be unconnected In a valid mapping? (choose one)
A. Lookup, stored procedure, external procedure

B. Lookup, stored procedure, Java

C. Java, lookup, transaction control

D. Transaction control, Java, lookup

Correct Answer: A

QUESTION 9

How does a single joiner transformation join data?

A. From 2 pipeline inputs

B. From 3 pipeline inputs

C. From n number of pipeline inputs assuming you have purchased the N-Joiner Option

D. none of the above
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Correct Answer: A

QUESTION 10

Which of the following statments are valid for Active and Passive Transformations? Choose 2 answers
A. A transformation is active if It rearranges the order of the rows in the pipeline

B. A transformation is active if it does not change the number of rows in the pipeline

C. Transformations can be active and passive at the same time

D. A passive transformation will not change the number of rows in the pipeline

Correct Answer: AD

QUESTION 11

Which of the following statements regarding mapplets are correct and true?

A. A mapplet can contain a target definition

B. A mapplet can contain a source definition as well as a source qualifier

C. Every mapplet must have at least 1 Input transformation as well as 1 Output transformation
D. A mapplet can contain a Normalizer transformation

Correct Answer: B

QUESTION 12

Two pipelines (A and B) are entering a Joiner transformation with each having a record size of 100 bytes. Pipeline A has
a total of 1000 records and Pipeline B has a total of 1,000,000 records. Which pipeline should be designated the master
pipeline?

A. Pipeline A

B. Pipeline B

C. Both Pipelines should be cached for performance reasons

D. Pipeline B if and only if Pipeline A is sorted

Correct Answer: A

QUESTION 13

Referring to the Sequence Generator transformation, which statement is correct and true?
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A. The NextVal column produces the next number in the sequence

B. The cycle check box on the properties tab turns on a feature that randomizes the numbers but still produces a unique
set of numbers for the sequence

C. The default ending value for a PowerCenter 9.x Sequence Generator is 2,147,483,647
D. The Sequence Generator contains a single input port that represents the initial starting point of the sequence

Correct Answer: A

QUESTION 14

The HTTP Transformation supports which HTTP Methods? (Choose all that apply) Choose 2 answers
A. DELETE

B. GET

C. POST

D. PUT

Correct Answer: BC

QUESTION 15

Can you use a Decode function to perform multiple searches based on a single search value?
A. No

B. Yes

C. Yes, but only if the port being searched Is sorted first

D. Yes, but only if the port is downstream of a router transformation

Correct Answer: B
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